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Question Number : 286 Question Id : 226895680175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following indicate limitation of Financial analysis:

1. They focus on the facts and relationships related to managerial performance, corporate efficiency etc.
2. They does not consider price level changes.

3. They indicate the ability of the company to meet its obligations.

4. They provide vital information to different stakeholders.

Options :

2268952637038. 1
2268952637039. 2
2268952637040. 3
2268952637041. 4

Question Number : 286 Question Id : 226895680175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952637038. 1
2268952637039. 2
2268952637040. 3
2268952637041. 4

Question Number : 287 Question Id : 226895680176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



(.5, Rai company Itd. purchased assets of the book value of Rs. 98,000 from another firm. It was agreed that purchase

consideration be paid by issuing 11% debentures of Rs. 100 each. Assume debentures have been issued at discount of
20%

Identify the number of debentures issued by the company to the vendor

1. 1100 debentures
2. 1200 debentures
3. 1225 debentures
4. 1960 debentures

Options :

2268952637042. 1
2268952637043. 2
2268952637044. 3
2268952637045. 4

Question Number : 287 Question Id : 226895680176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. 1100 BUTUH
2. 1200 BUYA
3. 1225 BUUA
4. 1960 BUUA

Options :

2268952637042. 1
2268952637043.2
2268952637044. 3
2268952637045. 4

Question Number : 288 Question Id : 226895680177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

X Ltd., has a current ratio of 3:1 and quick ratio of 2:1. If excess of current assets over quick assets, represented by
inventories is Rs. 5,000, calculate current assets and quick assets.

1. Rs. 15000 ; Rs. 10000
2.Rs. 15000 ; Rs. 14000
3. Rs. 10,000 ; Rs. 15000
4. Rs. 15000 ; Rs. 18000

Options :

2268952637046. 1
2268952637047.2
2268952637048. 3
2268952637049. 4



Question Number : 288 Question Id : 226895680177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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1.7 15000; ¥10000
2.%15000; % 14000
3.%10,000; ¥ 15000
4.%15000; ¥ 18000

Options :

2268952637046. 1
2268952637047. 2
2268952637048. 3
2268952637049. 4

Question Number : 289 Question Id : 226895680178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

A, B and C are partners in a firm. If D is admitted as a new partner, what will be its affect?

1. Old firm is dissolved

2. Old firm and old partnership is dissolved
3. Old partnership is reconstituted

4. Firm will lose its existence

Options :

2268952637050. 1
2268952637051. 2
2268952637052. 3
2268952637053. 4

Question Number : 289 Question Id : 226895680178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952637050. 1
2268952637051.2
2268952637052. 3
2268952637053. 4

Question Number : 290 Question Id : 226895680179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The director of Priya polymer Limited resolved that 200 equity shares of Rs. 100 each be forfeited for non-payment of
the second and final call of Rs. 30 per share. Out of these, 150 shares were re-issued at Rs. 60 per share to Monit. The
amount of capital reserve will be:

1. Rs. 4000
2. Rs. 4500
3. Rs. 5500
4. Rs. 5000

Options :

2268952637054. 1
2268952637055.2
2268952637056. 3
2268952637057. 4

Question Number : 290 Question Id : 226895680179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.4000 %4l
2. 4500 247
3. 5500 %4l
4. 5000 247

Options :

2268952637054. 1
2268952637055.2
2268952637056. 3
2268952637057. 4

Question Number : 291 Question Id : 226895680180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A business has earned average profits of Rs. 1,00,000 during the last few years and the normal rate of return in a similar
business is 25%. Ascertain the value of goodwill by capitalisation of average profits method, given that the value of net
assets of the business is Rs. 3,20,000.

1. Rs. 80,000

2. Rs. 2,40,000
3. Rs. 4,00,000
4. Rs. 2,60,000

Options :

2268952637058. 1
2268952637059.2
2268952637060. 3
2268952637061. 4

Question Number : 291 Question Id : 226895680180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.% 80, 000

2.% 2,40,000
3.9 4,00,000
4.% 2,60,000

Options :

2268952637058. 1
2268952637059. 2
2268952637060. 3
2268952637061. 4

Question Number : 292 Question Id : 226895680181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Rana, Sana and Kamana are partners, sharing profits in the ratio 4:3:2. Rana retires; Sana and Kamana decided to share
profits in the future in the ratio of 5:3. The Gaining Ratio of Sana and Kamana will be

1.21:11
2. 11:21
3.11:22
4. 12:21

Options :

2268952637062. 1
2268952637063. 2
2268952637064. 3
2268952637065. 4

Question Number : 292 Question Id : 226895680181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1211
2. 11:21
3. 11:22
4.12:21

Options :

2268952637062. 1
2268952637063. 2
2268952637064. 3
2268952637065. 4

Question Number : 293 Question Id : 226895680182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The following journal entry appears in the books of X Co. Ltd.

Bank A/c Dr. 475,000

Loss on issue of debenture A/c Dr. 75,000

To 12% Debentures A/c 5,00,000

To Premium on Redemption of Debenture A/c 50,000

In this case the debentures have been issued at a discount of 5% . What is the rate of premium on redemption
of debentures ?

1.5%

2.15%
3. 20%
4. 10%

Options :

2268952637066. 1
2268952637067. 2
2268952637068. 3
2268952637069. 4

Question Number : 293 Question Id : 226895680182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952637066. 1
2268952637067. 2
2268952637068. 3
2268952637069. 4

Question Number : 294 Question Id : 226895680183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Stock at the time of disselution was appearing in books at Rs 50,000. Half of the stock was sold at a discount of 20%
and the remaining was taken over by one of the partners at a 10% discount. What amount was received in cash at the
time of realization of stock.

1. Rs. 25,000
2. Rs. 42,500
3. Rs. 20,000
4. Rs. 45000

Options :

2268952637070. 1
2268952637071.2
2268952637072. 3
2268952637073. 4

Question Number : 294 Question Id : 226895680183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.25,000 394
2.42,500 30
3.20,000 394
4,45, 000 304

Options :

2268952637070. 1
2268952637071. 2
2268952637072. 3
2268952637073. 4

Question Number : 295 Question Id : 226895680184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Hemant and Naman are partners in a firm sharing profits in the ratio of 3:2. Their capitals were Rs. 80,000 and Rs.
50,000 respectively. They admitted Samrat on Jan. 1, 2025 as a new partner for 1/5 share in the future profits. Samrat
brought Rs. 60,000 as his capital. Calculate the value of goodwill of the firm ?

1. Rs. 1,20,000
2. Rs. 1,710,000
3. Rs. 1,30,000
4. Rs. 1,40,000

Options :

2268952637074. 1
2268952637075. 2
2268952637076. 3
2268952637077. 4

Question Number : 295 Question Id : 226895680184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.%. 1,20,000
2.%.1,10,000
3.%. 1,30,000
4.%. 140,000

Options :

2268952637074. 1
2268952637075.2
2268952637076. 3
2268952637077. 4

Question Number : 296 Question Id : 226895680185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The common size statements are useful, both, in intra-firm comparisons over different years and also in making inter-
firm comparisons for several years. This analysis is also known as

1. 'Vertical analysis’

2. 'Ratio analysis’

3. 'Trend analysis’

4, 'Horizontal analysis’

Options :

2268952637078. 1
2268952637079. 2
2268952637080. 3
2268952637081. 4

Question Number : 296 Question Id : 226895680185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952637078. 1
2268952637079. 2
2268952637080. 3
2268952637081. 4

Question Number : 297 Question Id : 226895680186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The need for Codification is :

1. The Encryption of data

2. The Generation of mnemonic code

3. To secure the accounts, reports etc

4. Easy to process data, keeping proper records

Options :

2268952637082. 1
2268952637083. 2
2268952637084. 3
2268952637085. 4

Question Number : 297 Question Id : 226895680186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952637082. 1
2268952637083. 2
2268952637084. 3
2268952637085. 4

Question Number : 298 Question Id : 226895680187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which analysis is a judgemental process which aims to estimate current and past financial positions and the results of
the operation of an enterprise, with primary objective of determining the best possible estimates and predictions about
the future conditions ?

1. Cash flow Analysis

2. Trend Analysis

3. Ratio Analysis

4. Financial statement analysis

Options :

2268952637086. 1
2268952637087. 2
2268952637088. 3
2268952637089. 4

Question Number : 298 Question Id : 226895680187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



HH 91 fazciyu o g s g foradT 3580 U SUHH & Hagd ok addq1 o< Rufod! aun 1aeE & oikom &1
- & g, e mufe gy yiawsrds uhffeal & R gdf= saA Id s gl

1. 9%¢ Yl [d%eyu
2. %9 fazemu

3. {OTa fasayor

4. fa<iy oz fgzemm

Options :

2268952637086. 1
2268952637087. 2
2268952637088. 3
2268952637089. 4

Question Number : 299 Question Id : 226895680188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Where is the address of the active cell displayed?

1. Row heading
2. Status bar
3. Name Box
4. Formula bar

Options :

2268952637090. 1
2268952637091. 2
2268952637092. 3
2268952637093. 4

Question Number : 299 Question Id : 226895680188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952637090. 1
2268952637091. 2
2268952637092. 3
2268952637093. 4

Question Number : 300 Question Id : 226895680189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



From the following details, calculate net profit before tax:
Met Profit after tax is Rs. 50,000;

15% Long-term debt 12,00,000;

Tax rate 209%.

1.1,80,000
2.1,50,000
3. 62,500
4.72,500

Options :

2268952637094. 1
2268952637095. 2
2268952637096. 3
2268952637097. 4

Question Number : 300 Question Id : 226895680189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.1,80,000
2.1,50,000
3. 62,500
4.72,500

Options :

2268952637094. 1
2268952637095.2
2268952637096. 3
2268952637097. 4

Question Number : 301 Question Id : 226895680190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A trader carries an average inventory of Rs. 40,000. His inventory turnover ratio is 8 times. If he sells goods at a profit of
20% on Revenue from operations, find out the gross profit.

1. Rs. 60,000
2. Rs. 70,000
3. Rs. 90,000
4. Rs. 80,000

Options :

2268952637098. 1
2268952637099. 2
2268952637100. 3
2268952637101. 4



Question Number : 301 Question Id : 226895680190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.7, 60, 000
2.%. 70, 000
3.%. 90, 000
4.%. 80, 000

Options :

2268952637098. 1
2268952637099. 2
2268952637100. 3
2268952637101. 4

Question Number : 302 Question Id : 226895680191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Gross profit ratio of a company was 25%. Its credit revenue from operations was Rs. 20,00,000 and its cash revenue
from operations was 20% of the total revenue from operations. If the indirect expenses of the company were Rs.
50,000, Calculate its net profit.

1.5,00,000
2.6,25,000
3. 6,00,000
4.5,75,000

Options :

2268952637102. 1
2268952637103. 2
2268952637104. 3
2268952637105. 4

Question Number : 302 Question Id : 226895680191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.5,00,000
2.6,25,000
3. 6,00,000
4.5,75,000

Options :

2268952637102. 1
2268952637103.2
2268952637104. 3
2268952637105. 4

Question Number : 303 Question Id : 226895680192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

Asha, Deepa and Lata are partners in a firm sharing profits in the ratio of 3: 2 : 1. Deepa retires. After making all
adjustments relating to revaluation, goodwill, Payment to Deepa and accumulated profit etc,, the capital accounts of
Asha and Lata showed a credit balance of Rs. 1,60,000 and Rs. 80,000 respectively. It was decided to adjust the capitals

of Asha and Lata in their new profit sharing ratio. You are required to calculate the new capitals of the partners i.e Asha
and Lata.

1. Rs.1,80,000 & Rs.1,70,000
2. Rs.1,80,000 & Rs.60,000
3. Rs. 60,000 & Rs.1,60,000
4. Rs.1,60,000 & Rs. 80,000

Options :

2268952637106. 1
2268952637107. 2
2268952637108. 3
2268952637109. 4

Question Number : 303 Question Id : 226895680192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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1.3 1,80,000 AR F 1,70,000
2.3 1,380,000 3R ¥ 60, 000
3.% 60,000 3T % 1,60,000
4.7 1,60,000 3R ¥ 80,000

Options :

2268952637106. 1
2268952637107. 2
2268952637108. 3
2268952637109. 4

Question Number : 304 Question Id : 226895680193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

A and B are partners sharing profits in the ratio of 2:1. C is admitted into the firm for 1/4 share of profits. C brings in Rs.
20,000 in respect of his capital. The capitals of old partners A and B, after all adjustments relating to goodwill,
revaluation of assets and liabilities, etc, are Rs. 45,000 and Rs. 15,000 respectively. It is agreed that partners’ capitals
should be according to the new profit sharing ratio. Determine the new profit sharing ratio

1.6:3:2
22204
3.2:1:2
4. 1:2:1

Options :

2268952637110. 1
2268952637111.2
2268952637112. 3



2268952637113. 4

Question Number : 304 Question Id : 226895680193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.6:3:2
2.2:1:1
3. 2712
4. 1:2:1

Options :

2268952637110. 1
2268952637111.2
2268952637112. 3
2268952637113. 4

Question Number : 305 Question Id : 226895680194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

According to which section of the partnership Act 1932, the dissolution of a partnership between all the partners of a
firm is called the dissolution of the firm?

1. Section 32
2. Section 35
3. Section 37
4. Section 39

Options :

2268952637114. 1
2268952637115.2
2268952637116. 3
2268952637117. 4

Question Number : 305 Question Id : 226895680194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. 4RI 32
2. 4RI 35
3. 4RI 37
4, ¥ 39

Options :

2268952637114. 1
2268952637115.2
2268952637116. 3
2268952637117. 4



Question Number : 306 Question Id : 226895680195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following is correct?

The important provision affecting partnership accounting, in the absence of a partnership deed is:

1. Profit Sharing Ratio: If the partnership deed is silent about the profit sharing ratio, the profits and losses of the firm
are to be shared by partners in their capital ratio.

2. Interest on Capital: Partner is entitled to claim higher interest on the amount of capital contributed by him in the
firm as a matter of right.

3. Interest on Drawings: Nao interest is to be charged on the drawings made by the partners, if there is no mention in
the Deed.

4. Interest on Loan: If any partner has advanced loan to the firm for the purpose of business, he/she shall be entitled to
get an interest on the loan amount at the rate of 16 per cent per annum.

Options :

2268952637118. 1
2268952637119.2
2268952637120. 3
2268952637121. 4

Question Number : 306 Question Id : 226895680195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952637118. 1
2268952637119.2
2268952637120. 3
2268952637121. 4

Question Number : 307 Question Id : 226895680196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

If a company issue Rs. 1,00,000, 9% debentures of Rs. 100 each at discount of 5% but redeemable at premium of 5%
then what amount will be debited to Loss on Issue of Debentures Account?

1. Rs.5,000

2.Rs.10,000
3. Rs.15,000
4. Rs.20,000



Options :

2268952637122. 1
2268952637123.2
2268952637124. 3
2268952637125. 4

Question Number : 307 Question Id : 226895680196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.% 5,000

2.% 10,000
3.% 15,000
4.% 20,000

Options :

2268952637122. 1
2268952637123.2
2268952637124. 3
2268952637125. 4

Question Number : 308 Question Id : 226895680197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Debenture Application & Allotment A/c Dr. 95,000
Loss on Issue of Debentures A/c Dr. 10,000
To 9% Debenture A/c 1,00,000
To Premium on Redemption of Debentures A/c 5,000

On the basis of the above entry, determine the rate of discount at which Rs. 1,00,000, 9% debentures of Rs. 100 each
were issued if they were to be redeemed at a premium of 5% .

1.5%
2.10%
3.15%
4. 20%

Options :

2268952637126. 1
2268952637127.2
2268952637128. 3
2268952637129. 4

Question Number : 308 Question Id : 226895680197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. 5 Ui
2. 10 Wid=rd
3. 15 Ui
4. 20 Hid=d

Options :

2268952637126. 1
2268952637127.2
2268952637128. 3
2268952637129. 4

Question Number : 309 Question Id : 226895680198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is not the main factors affecting the value of Goodwill?

1. Nature of Business

2. Location

3. Market situation

4. Efficiency of Management of non-competitive firms

Options :

2268952637130. 1
2268952637131.2
2268952637132. 3
2268952637133. 4

Question Number : 309 Question Id : 226895680198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952637130. 1
2268952637131.2
2268952637132. 3
2268952637133. 4



Question Number : 310 Question Id : 226895680199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Dividend paid by a company to its shareholder is classified as which type of activity under cash flow statment?

1. Cash flow from operating activities
2. Cash flow from investing activities
3. Cash flow from financing activities
4. Cash flow from extraordinary activities

Options :

2268952637134 1
2268952637135.2
2268952637136. 3
2268952637137. 4

Question Number : 310 Question Id : 226895680199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952637134. 1
2268952637135.2
2268952637136. 3
2268952637137. 4

Question Number : 311 Question Id : 226895680200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
The sum due to the retiring partner includes :
{A) His share of profits up to the date of retirement.
(B) His share of goodwill;
(C) His share of accumulated profits ;
(D) His share in the gain of revaluation of assets and liabilities;
Choose the correct answer from the options given below:

1. (A), (B) and (D) enly
2. (A), (B) and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :
2268952637138. 1
2268952637139.2



2268952637140. 3
2268952637141. 4

Question Number : 311 Question Id : 226895680200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952637138. 1
2268952637139. 2
2268952637140. 3
2268952637141. 4

Question Number : 312 Question Id : 226895680201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Various accounting aspects involved on death of a partner are as follows:
{A) Adjustment in respect of unrecorded assets and liabilities

(B) Treatment of goodwill

(C) Preparation of Realization A/c

(D) Preparation of Executor's loan A/c

Choose the correct answer from the options given below:

A), (B) and (C) only
A), (B) and (D) only
A), (B), (C) and (D)

(
(
(
(B), {C) and (D) only

i
2.
&l
4.

Options :

2268952637142. 1
2268952637143.2
2268952637144. 3
2268952637145. 4

Question Number : 312 Question Id : 226895680201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. ®ad (A), (B) 3R (O)
2.%ad (A), (B) 3R (D)
3. (A), (B), (O 3R (D)

4.%4d (B), (C) 3R (D)

Options :

2268952637142. 1
2268952637143.2
2268952637144. 3
2268952637145. 4

Question Number : 313 Question Id : 226895680202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Minimum subscription is the minimum amount that, in the opinion of directors, must be raised to meet the needs of
business operations of the company relating to:

{A) The price of any property purchased, or to be purchased, which has to be met whelly or partly out of the proceeds
of issue;

(B) Preliminary expenses payable by the company and any commission payable in connection with the issue of shares;
{C) Working capital;

(D) Any other expenditure required for the usual conduct of business operations

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952637146. 1
2268952637147.2
2268952637148. 3
2268952637149. 4

Question Number : 313 Question Id : 226895680202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



HAH SMfHEH 98 JAaH U ¢ ol Fexel @1 39 H, SU & AIauiad Sa1e- of aedl ®f O3 S & (78 SHaR]
¥4 I qers 9! 91ey, off fos dafta g1

(A) A T 1 GG R I ol o GuR A s o gl T e U R SHKi 3 IR AT e o B
(B) SO GRT YRS o0l &I 37 B 41 31T & (179 & Wey & 5t UeR &1 37 SHEe

(C) Pria Oeit

(D) SIS TaTeH & YR aTa & fore srféd ®is o oy

- fag e fawed! @ W@ SR -

1. 9G4 (A), (B) AR (D)
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Options :

2268952637146. 1
2268952637147.2
2268952637148. 3
2268952637149. 4

Question Number : 314 Question Id : 226895680203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

While issuing the share capital for public subscription where there is no articles of association of its own, the following
provisions of Table A will apply:

(A) A period of one month must elapse between two calls.

(B) The amount of call should not exceed 25% of the face value of the share.

{C) A minimum of 7 days’ notice is given to the shareholders to pay the amount.
(D) Calls must be made on a uniform basis on all shares within the same class.
Choose the correct answer from the options given below:

1. {A), (B) and (C) only
2. (A), (B) and (D) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952637150. 1
2268952637151.2
2268952637152. 3
2268952637153. 4

Question Number : 314 Question Id : 226895680203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. 5G4 (A), (B) AR (O)
2.%4ad (A), (B) 3R (D)
3. (A), (B), (O) 3R (D)

4. %ad (B), (C) 3R (D)

Options :

2268952637150. 1
2268952637151.2
2268952637152. 3
2268952637153. 4

Question Number : 315 Question Id : 226895680204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Securities Premium Account can be used only for the following purposes:
{A) To issue partly paid bonus shares to the extent not exceeding unissued share capital of the company;
(B). Buy back of own shares.
{C). To write-off the expenses of, or commission paid, or discount allowed on any securities of the company;
(D). To pay premium on the redemption of preference shares or debentures of the company.
Choose the correct answer from the options given below:

1. (&), (B) and (D) enly
2. (A), (B) and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952637154. 1
2268952637155.2
2268952637156. 3
2268952637157. 4

Question Number : 315 Question Id : 226895680204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.99d (A), (B) 3R (D)
2.%ad (A), (B) ¥R (O)
3. (A), (B), (O) TR (D)

4.%ad (B), (C) 3R (D)

Options :

2268952637154. 1
2268952637155.2
2268952637156. 3
2268952637157. 4

Question Number : 316 Question Id : 226895680205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-1l
Accounting ratio Type of accounting ratio
(&) Current ratio (I) Liguidity ratios

(B) Stock turnover ratio (I) Activity ratios

(C) Debt Equity ratio (1) Solvency ratios

(D) Operating ratio (V) Profitability ratios

Choose the correct answer from the options given below:

1.(A) - ), (B) - (I, (C) - (m), (D) - (IV)
2. (A) - (1. (B) - (1), (C) - (W), (D) - (V)
3. (A) - (1), (B) - (), () - (IV), (D) - (i)
4. (A) - (), (B) - (V). (Q) - (1), (D) - (I

Options :

2268952637158. 1
2268952637159.2
2268952637160. 3
2268952637161. 4

Question Number : 316 Question Id : 226895680205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(0. (B)-(1), (C)-(1), (D)-(IV)
2. (A)-(. (B)-(1n, (©)-(n, (B)-(1IV)
3. (A)-(, (B)-(), (Q)-(IV). (D)-(111)
4. (A)-(m), (B)-(v), (©-(1). (©)-(1D

Options :

2268952637158. 1
2268952637159. 2
2268952637160. 3
2268952637161. 4

Question Number : 317 Question Id : 226895680206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-1l

(A) Reserves and Surplus (1) Share Options Outstanding Account

(B) Nen-current Liabilities (1) Long term provisions

{C) Current Liabilities (11} Short-term borrowing

(D) Shareholder's Fund (IV) Calls in arrear

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4, (A

= (1), (B) - (), (©) - (), (D) - (V)
= (1, (B) - (), (C) - (W), (D) - (IV)
= (1. (B) - (1), (C) - (IV), (D) - (1)
= (), (B) - (1v), (C) - (1), (D) - (1)

(L L Lt

Options :

2268952637162. 1
2268952637163. 2
2268952637164. 3
2268952637165. 4

Question Number : 317 Question Id : 226895680206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(1). (B)-(11), {Q)-(1), (D)-(IV)
2. (A)-0). (B)-(1n), (©)-(n), (D)-(1V)
3. (A)-(1. (B)-(11), {C)-(1V), (D)-(11D)
4. (A)-(1), (B)-(1v), (O)-(1). (D)-(11)

Options :

2268952637162 1
2268952637163.2
2268952637164. 3
2268952637165. 4

Question Number : 318 Question Id : 226895680207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11

(A) Cash Qutflows from financing activities |(I) Redemption of debentures

(B) Cash Inflows from operating activities  |(Il} Current Investment

(C) Cash and cash equivalents (1) Cash from royalties, fees, commissions and other revenues

(D) Cash Inflows from investing activities  |(IV) Cash receipt from disposal of fixed assets including intangibles

Choose the correct answer from the options given below:

1. (A) -
2.(A) -
3. (A) -
4. (A) -

0, (B) - (m), (C} - (), (D) - (1V)
0, (B) - (1), (C) - (), (D) - (V)
(1, (B) - (1), (C) - (IV), (D) - (1)
(1. (8) - (v), (Q) - (. (D) - (1)

Options :

2268952637166. 1
2268952637167.2
2268952637168. 3
2268952637169. 4

Question Number : 318 Question Id : 226895680207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(, (B)-(1), (C)-(1), (D}-(1V)

2. (A)-(, (B)-(H, (C)-(1), (D)-(1V)

3. (A)-(D. (BY-(11), (C)-(IV), (D)-(11)

4. (A)-(m), (B)-(1v), (Q-(1), (D)-(1)

Options :

2268952637166. 1
2268952637167.2
2268952637168. 3
2268952637169. 4

Question Number : 319 Question Id : 226895680208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11

(A) Compulsory Dissolution (I} Partner becomes insane
(B) Dissolution by notice (Il) Death of a partner

(C) Dissolution by Court (1) Business become illegal
(D) Dissolution on certain contingencies |(IV) Partnership at will

Choaose the correct answer from the options given below:

A) - (1), (B) - (1, (C) - (1), (D) - (V)
A) - (), (B) - (), (©) - (), (D) - (V)
A) - (1), (B) - (1, (C) - (V). (D) - (1)

(
(
(
(A) - (), (B) - (V). (O - (0, (B) - (1)

1.
&,
&
4.

Options :

2268952637170. 1
2268952637171.2
2268952637172. 3
2268952637173. 4

Question Number : 319 Question Id : 226895680208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. (A)-(1). (B)-(1), {Q)-(1), (D)-(IV)
2. (A)-0), (B)-(1n), (C)-(1n), (D)-(1V)
3. (A)-(1. (B)-(1n), {C)-(1V), (D)-(11)
4. (A)-(1), (B)-(1v), (C)-(1), (D)-(11)

Options :

2268952637170. 1
2268952637171.2
2268952637172. 3
2268952637173. 4

Question Number : 320 Question Id : 226895680209 Question Type : MCQ Option Shuffling : No Display Question Number

Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

: Yes Is

List-1

List-lI

(A) Payment of loans due to partners

(1) Realisation A/c  Dr

To Bank A/c

(B) For settlement of partners’ accounts, in case their capital account shows a debit
balance

(Il) Bank A/c Dr.

To loan to partners

Afc

(C) For settlement of loan by a firm to a partner

(Ill) Bank A/c Dr.

To Partner's Capital A/c

(D) For settlement of any unrecorded liability

(IV) Partner's Loan A/c Dr.

To Bank Ajc

Choose the correct answer from the options given below:

1. (A) - (V), (B) - (1), (C) - (), (D) - (1)
2. (A) - (V), (B) - (1), (C) - (W), (D) - ()
3. (A) - (), (B} - (I, (C) - (V). (D) - ()
4. (A) - (1, (B) - (IV), (Q - (0, (D) - (I

Options :

2268952637174. 1
2268952637175.2
2268952637176. 3
2268952637177. 4



Question Number : 320 Question Id : 226895680209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(IV). (B)-(111), (C)-(1). (D)-(1)
2. (A)-(IV), (B)-(11), (©)-(1h), (D)-(1)
3. (A)-(l), (B)-(), (C)-(1V), (D)-(D
4. (A)-(I), (B)-(v), (O)-(. (D)-(IN)

Options :

2268952637174. 1
2268952637175.2
2268952637176. 3
2268952637177. 4

Question Number : 321 Question Id : 226895680210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following in the sequence in which they shall be applied in payment at the time of dissolution of a firm:
{A) The debts of the firm to the third parties.

(B) Partner proportionately what is due to him/her from the firm for advances as distinguished from capital (i.e.
partner's loan).

(C) Each partner proportionately what is due to him on account of capital.
(D) Divided among the partners in their profit sharing ratio.

Choose the correct answer from the options given below:

2

Ib-

1.(
2.(
3. (
4.(

Options :

2268952637178. 1
2268952637179. 2
2268952637180. 3
2268952637181. 4

Question Number : 321 Question Id : 226895680210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



FHofaied & 34 4 & Faiud &1 foad 3= il B & [d9ed & 9 2fa o ar i Se:
(A) BH & B BT 39 &K BI FTaH|

(B) TSGR GR1 BH @I iffE o i Ui 37 & (Ieony WisigR 4 07|

(C) U® UTRIGR @I el @i & A8 &4, A-UIad YaH|

(D) TTY fqUTSH & 3UTd H URERI & & fauifoe |

4 feu e fawed! o © wEt 3w g

1.(A) (B), (O (D)
2. (B). (©), (D), (A
3. (A), (D), (C) (B)
4. (D), (B), (Q). (A)

Options :

2268952637178. 1
2268952637179.2
2268952637180. 3
2268952637181. 4

Question Number : 322 Question Id : 226895680211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Arrange the following regarding admission procedure in the correct sequence.
(A) Giving share to the new partner.

(B) Treatment of Goodwill

(C) Calculating new profit sharing ratio & sacrificing ratio

(D) Preparation of Revaluation A/c

(E) Preparing Partner's Capital A/c and Balance Sheet

Choose the correct answer from the options given below:

1.(A) (B), (O, (D), (B)
2. (A). (). (B). (D), (B)
3. (A), (D), (), (B), (E)
4. (A), (B), (C), (E). (D)

Options :

2268952637182 1
2268952637183.2
2268952637184. 3
2268952637185. 4

Question Number : 322 Question Id : 226895680211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952637182. 1
2268952637183.2
2268952637184. 3
2268952637185. 4

Question Number : 323 Question Id : 226895680212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Arrange the following in a sequence, in which they will be utilize for the payment of losses:
{A) Out of capital of partners.

(B) Out of profits.

(C) By the partners individually in their profit sharing ratio.

Choose the correct answer from the options given below:

1.(A), (B), (Q)
2. (A), (C), (B)
3. (B), (A), (O
4. (B), (C), (A)
Options :

2268952637186. 1
2268952637187.2
2268952637188. 3
2268952637189. 4

Question Number : 323 Question Id : 226895680212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



fFofeiad @1 e w9 H gaiyd &<, g 3@ SUdFT 81 I Yar & fore fasar s
(A) FRIGRT @1 Goft &

(B) TIH &

(C) TISIGRI GRT U4 30+ oY §eaR o urd

i fer T el § 9 9ét S I

A),
A

1. (A), (B), (C
2.(
3.(B
4. (

( )
(€. ®)
) (A), (C)
) (C), (A)

m

Options :

2268952637186. 1
2268952637187. 2
2268952637188. 3
2268952637189. 4

Question Number : 324 Question Id : 226895680213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
The important steps in the procedure of share issue are :
{A) The company issues the prospectus to the public.
(B) The company has to get minimum subscription within 120 days from the date of the issue of the prospectus.

{C) The prospective investors intending to subscribe the share capital of the company would make an application
along with the application money

(D) Letters of allotment are sent to those whom the shares have been alloted, and letters of regret to those to whom
no allotment has been made.

Choose the correct sequence of steps from the options given below:

1. (A), (B), (©). (D)
2. (A), (C), (B), (D)

3. (B), (A), (D). (Q)
4.(C), (B). (D), (A)
Options :

2268952637190. 1
2268952637191.2
2268952637192. 3
2268952637193. 4

Question Number : 324 Question Id : 226895680213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



3 WIR] B @1 UichT | Hg@yul deH o

(&) B a1 & o fGaRu-ufae 9 S Bl

(®) H BT R T oo ufs aRl 8 3 afE T 120 &A1 & Hiax gag sl urg S il
(C) HG-T B =1 Goll B Yedl YgUl - D gag YId! Fd=id Hide- R & 1Y Ud SH1ded bl |

(D) 3Ide] U 3 QT &1 il Sl & o Sf21 Sffdfed g 18 8, 3R 3 €Tl &bl We Ud Hol Oiid & foivg Iy affde 8l
fFar T gl

el ferg 1 et & § <Ror &1 Wel H

1.(A), (B). (O). (D)
2. (A), (C). (B). (D)
3. (B). (A). (D). (O)
4. (Q). (B). (D). (A)

Options :

2268952637190. 1
2268952637191. 2
2268952637192. 3
2268952637193. 4

Question Number : 325 Question Id : 226895680214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

The steps involved in calculation of Goodwill under Super Profit method are:

(A) Calculate the super profits by deducting normal profit from the average profits,

(B) Calculate the normal profit on the firm's capital on the basis of the normal rate of return,
(C) Calculate the average profit,

(D) Calculate goodwill by multiplying the super profits by the given number of years' purchase.

Choose the correct sequence of steps from the options given below:

1.(A), (B), () (D)
2. (A), (C). (B). (D)
3. (C) (B), (A). (D)
4. (Q), (B). (D), (A)

Options :

2268952637194 1
2268952637195.2
2268952637196. 3
2268952637197. 4

Question Number : 325 Question Id : 226895680214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



i viftre faftl & qed @1fa &1 TomT & i Ped &

(A) 3T TTH Y W O &1 Held] PP SAd arH & IReeH
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1. (A). (B), (). (D)
2. (A), (C). (B). (D)
3.(Q), (B), (A}, (D)
4. (), (B). (D). (A)

)
)

Options :

2268952637194. 1
2268952637195.2
2268952637196. 3
2268952637197. 4

Sub-Section Number : 2
Sub-Section Id : 22689527980
Question Shuffling Allowed : No

Question Id : 226895680215 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (326 to 330)

Read the following passage and answer the questions

A Solid Partnership

A,V and T were partners of a law firm sharing profits in the ratio of 5:3:2. Their partnership deed provided the following:
(i) Interest on partners’ capital @ 5% p.a.

(i) A guaranteed that he would earn a minimum annual fee of Rs. 6,00,000 for the firm.

(ili) T was guaranteed a profit of Rs. 2,50,000 (excluding interest on capital) and any deficiency on account of this was to be
borne by A and V in the ratio of 2:3.

During the year ending March 31, 2019, A earned a fee of Rs. 3,20,000 and net profits earned by the firm were Rs. 8,60,000.
Partner's capital on April 01, 2018 were A - Rs. 3,00,000; V - Rs. 3,00,000 and T- Rs. 2,00,000.

Sub questions

Question Number : 326 Question Id : 226895680216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

What is the amount of A's deficiency of annual fee ?

1. Rs. 2,80,000
2. Rs. 1,80,000
3. Rs. 3,80,000
4. Rs. 4,580,000

Options :



2268952637198. 1
2268952637199.2
2268952637200. 3
2268952637201. 4

Question Number : 327 Question Id : 226895680217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

What is the amount of T's deficiency in profits ?

1. Rs. 20,000
2. Rs. 30,000
3. Rs. 40,000
4. Rs. 57,000

Options :

2268952637202. 1
2268952637203.2
2268952637204. 3
2268952637205. 4

Question Number : 328 Question Id : 226895680218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In which ratio the deficiency of T will be borne by A & V.

1553
2.2:3
3. 24
4. 211

Options :

2268952637206. 1
2268952637207.2
2268952637208. 3
2268952637209. 4

Question Number : 329 Question Id : 226895680219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

What is the amount of prefit to be credited to A's Capital account?

1. Rs.5,28,000
2. Rs.5,30,000
3. Rs.5,35,000
4. Rs.5,38,000

Options :

2268952637210. 1
2268952637211. 2
2268952637212. 3
2268952637213. 4

Question Number : 330 Question Id : 226895680220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

What is the amount of profit to be credited to V's Capital account?

1. Rs.3,10,000
2.Rs.3,11,000
3. Rs.3,12,000
4. Rs.3,13,000

Options :

2268952637214 1
2268952637215.2
2268952637216. 3
2268952637217. 4

Question Id : 226895680215 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (326 to 330)

Frafaf@a su o @ iR usf FIw 3

U% 3 WIRERT

AV 3R T bl &l BH H 5:3:2 T 9 81 3FUA ¥ HisieR U1 3% Wsier] faoka | Fafafad sudy feu e o
(i) SIRER 3 §sh & @s o ufa ad|

(i) A9 TR € T a8 BH & U gHan 9Ifif® Yoo 6,00,000 TUT Hffd B

(i) T 2,50,000 ¥UY (Usil G o1l Bl BISH) b1 TR o 1T 3R 38d BRI gl drcil fardl Hl HH ST HR A IRV GRI23 &
3aTa & ag- faar o o7l

31 114 2019 ®! AT §U AN & SR A A 3,20,000 ¥UU &1 Yob 3fuid b1 AR BH I 8,60,000 TUT BT Y5 1Y G| 1 30,
2018 DI UISIGR A @I Uil 3,00,000 ¥UL, V-1 Usil 3,00,000 TUT SR T-I Gsil 2,00,000 FUT |

Sub questions

Question Number : 326 Question Id : 226895680216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A DI diite Yed DI B S AR 187

1.7%. 2,80,000
2.7%. 1,80,000
3.%. 3,80,000
4.%. 4,80,000

Options :

2268952637198. 1
2268952637199.2
2268952637200. 3
2268952637201. 4

Question Number : 327 Question Id : 226895680217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



T & TRUE A4 H HH BRI fhdHl 82

1.7%. 20,000
2.7%. 30,000
3.%. 40,000
4.%. 57,000

Options :

2268952637202.
2268952637203.
2268952637204.
2268952637205.

B W =

Question Number : 328 Question Id : 226895680218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

fHU dUa T DIl A ARV GRIdeA &I ag|

1.5:3
2. 2:3
3. 2:4
4. 2:1

Options :

2268952637206. 1
2268952637207.2
2268952637208. 3
2268952637209. 4

Question Number : 329 Question Id : 226895680219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

A & Uoll Wid T o &1 A el a1y ot ikl o1 87
1. 304, 5,28,000

2. 394, 5,30,000
3. ¥04. 5,35,000
4.30Y. 5,38,000

Options :

2268952637210. 1
2268952637211. 2
2268952637212. 3
2268952637213. 4

Question Number : 330 Question Id : 226895680220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



v & Joll @Td & 1 @1 S arell @y & A b 87

1.%. 3,10,000
2.%. 3,11,000
3.%.3,12,000
4.%. 3,13,000

Options :

2268952637214. 1
2268952637215.2
2268952637216. 3
2268952637217. 4

Sub-Section Number : 3
Sub-Section Id : 22689527981
Question Shuffling Allowed : No

Question Id : 226895680221 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (331 to 335)

Read the following passage and answer the questions

On January 1, 2024, the Director of X Ltd. issued for public subscription 50,000 equity shares of Rs. 10 each at Rs. 12 per share
payable, Rs. 5 on application (including premium), Rs. 4 on allotment and the balance on call on May 01, 2024. The issue was
closed on February 10, 2024 by which date applications for 70,000 shares were received. Of the cash received Rs. 40,000 was
returned and Rs.60,000 was applied to the amount due on allotment, the balance of which was paid on February 16, 2024. All
the shareholders paid the call due on May 01, 2024 with the exception of an allottee of 500 shares. These shares were forfeited
on September 29, 2024 and reissued as fully paid at Rs. 8 per share on November 01, 2024. The company, as a matter of policy,
does not maintain a calls-in-arrears account.

Sub questions

Question Number : 331 Question Id : 226895680222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

What amount will be credited to Equity Share Application Account on February 10, 20247

1. Rs. 2,50,000
2. Rs. 3,00,000
3. Rs. 3,50,000
4. Rs. 450000

Options :

2268952637218. 1
2268952637219. 2
2268952637220. 3
2268952637221. 4

Question Number : 332 Question Id : 226895680223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



What is the amount of excess application money credited to share allotment and money refunded on rejected
application in totality?

1. Rs. 40,000
2. Rs. 60,000
3. Rs. 1,00,000
4. Rs. 1,20,000

Options :

2268952637222. 1
2268952637223.2
2268952637224. 3
2268952637225. 4

Question Number : 333 Question Id : 226895680224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

On Forfieture of 500 shares for non-payment of call money, what amount will be credited to Shares Forfeiture Account
,

1. Rs. 2500
2.Rs. 3500
3. Rs. 4500
4. Rs. 1500

Options :

2268952637226. 1
2268952637227.2
2268952637228. 3
2268952637229. 4

Question Number : 334 Question Id : 226895680225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

On Reissue of 500 forfeited shares as fully paid at Rs. 8 per share, what amount will be debited to Shares Forfeiture
Account ?

1. Rs. 1,000
2. Rs. 2,000
3. Rs. 3,000
4. Rs. 4,000

Options :

2268952637230. 1
2268952637231.2
2268952637232. 3
2268952637233. 4

Question Number : 335 Question Id : 226895680226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



What is the amount of Profit on reissue of Forfeited Shares Accounts transferred to capital reserve?

1. Rs. 500

2. Rs. 1000
3. Rs. 2000
4. Rs. 2500

Options :

2268952637234. 1
2268952637235.2
2268952637236. 3
2268952637237. 4

Question Id : 226895680221 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (331 to 335)

FeaffEd v HI R AR F Ui FIWE

1 9Had], 2024 B x ffies & Fewe 3 Irdef® e @ AT 50,000 T 3= @1 10 T04 Ufd 219 & Ic0 & =0 & Ufd ofw
12 30U IR SR fobdl, Wil 39 UPR ¢4 §, §l 38 U 3lded WX 5 3ud (Hifgd 9fgd), 4 T sffded W 3R 1 Hs, 2024 Bl A R I
A | 10 BRET, 2024 Bt HMEH T 6 TR & T3, $9 dRIE a9 70,000 A & AT AHde Wi g1 o 41 U AR H T ¥ 40,
000 STUY &R fGT T R Hded R ¢F R | ¥ .60,000 YHAINT &R faU TR | ST 29 AR &1 YIaH 16 HE, 2024 i faar
1 Y71 500 R & el B Bledh Gl SAWURD! + 1 Hs, 2024 DI o HIT &1 YIdH b1 37 3=l &I 20 RdaR, 2024 BT
e @ o T 3R 1 F9aR, 2024 Bi 8 Uid % &1 QUi ugd A §U iR U 9 fdan . S, ifd & oFaR § e ui &t
GTaT e ¥ gl

Sub questions

Question Number : 331 Question Id : 226895680222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

10 a3, 2024 T THAT 3T Hde Wid § foa-1 Ui 4 1 &1 Smgi?
1. 394, 2,50,000

2. 304, 3,00,000
3. ¥4, 3,50,000
4., 4,50,000

Options :

2268952637218. 1
2268952637219. 2
2268952637220. 3
2268952637221. 4

Question Number : 332 Question Id : 226895680223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Y A H o @ 7T e e Ui 3R HEFIER BT T e )R Ay @ 1 A $ bt SRR 82

1.7%. 40,000
2.%. 60,000
3.%. 1,00,000
4.%. 1,20,000



Options :

2268952637222. 1
2268952637223.2
2268952637224. 3
2268952637225. 4

Question Number : 333 Question Id : 226895680224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

[T M BT YA 7 B R 500 T o ofad 8- IR, ¥ Sl @i 7 et 02 51 & smeit?

1.7%. 2,500
2.%. 3,500
3.%. 4,500
4.%. 1,500

Options :

2268952637226. 1
2268952637227.2
2268952637228. 3
2268952637229. 4

Question Number : 334 Question Id : 226895680225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

500 Sied 3=l i 8 $UYT Ul 2 $1 &2 U Ul Ugd AFd gU H: 7 fbe 71g, oisd H R, of2 Sl @rd H fbdi i
M (Sfde) B FeE?

1.%. 1,000
2.%, 2,000
3.%. 3,000
4.%. 4,000

Options :

2268952637230. 1
2268952637231.2
2268952637232. 3
2268952637233. 4

Question Number : 335 Question Id : 226895680226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

GIEl 32T @T] & GAI-F1H OR GoiRTd HRIE  SHdRd T &1 @4 el 87

1.7%. 500

2.%. 1,000
3.%. 2,000
4.%. 2,500

Options :

2268952637234. 1
2268952637235.2
2268952637236. 3
2268952637237. 4



